Grammar Blocks: formula sheet
Present simple: 4 blocksbase form
p
…s form
p
base form
p
do
p
base form
p
does

I live. He, she, It lives.

Do you live? Does he, she, it live?
We don’t live. He, she, it doesn’t live.
_______________________________________________________
To be: present + past: 2 blocks
Present: (am/is/are)to be
p

I am
he, she, it is
we, you, they are
I am happy. I am not happy. Am I happy?

Past: (was/were)to be past
p

I, he, she, it was
we, you, they were
[bookmark: _GoBack]They were happy. They weren’t happy. Were they happy?
__________________________________________________________
Past simple: 3 blockspast form
p
did
p
base form
p

Regular: 
I lived. 
Did we live?
They didn’t live.

Irregular:
He ate
Did he eat?
He didn’t eat



Used to: 3 blocksbase form
p
used  to
p

I used to smoke... 
Did you use to smoke?did
p
base form
p
use  to
p

He didn’t use to smoke.
__________________________________________________________
Modals: 2 blocksmodals
p
base form
p

9 modals: can, could, should, must, will, would, shall, might, may
I can swim.
Can you swim?
She can’t swim.
___________________________________________________________________
Present perfect: 2 blockspast participle
p
to have
p

I/you/we/they have finished…
He/she/it hasn’t finished.
Have you finished...?
They haven’t finished.
__________________________________________________________
Future: 5 blocks
We will go. base form
p
will
p

Will you go? 
I won’t go.

I am going to watch. to be
p
going to
p
base form
p

Are we going to watch? 
He isn’t going to watch.

I am leaving. …ing form
p
to be
p

Are you leaving? 
They aren’t leaving.
Passive: present + past: 3 blocks
Present: (am/is/are)past participle
p
to be
p

It is eaten. Is it eaten? It isn’t eaten.

Past: (was/were)past participle
p
to be past
p

They were eaten. Were they eaten? They weren’t eaten.
__________________________________________________________
First conditional: 7 blocks                                              ,                                  present simple



p

p

p

base form
p
will
p
if
p
base form
p
will
p


p

p

p

if
p

                                                      or
                                                           present simple



If he works hard, he will pass his exam.                          
He will pass his exam if he works hard.	
If I am tired, I won’t watch the match. 
__________________________________________________________
Second conditional: 6 blockspast simple


p

p

base form
p
would
p
if
p
base form
p
would
p


p

if
p

p

                                                         or
past simple


If he worked hard, he would pass his exam.                          
He would pass his exam if he worked hard.	
If I was tired, I wouldn’t watch the match. 

Gary Pathare
DMC Foundations 2017
